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1) TRADE THEORY

Question No. 1/ Question ID 312 Marks: 2.00

What is the full form of Bl in PowerBI?
PowerB| & Bl &1 quf ®U &1 82

(A) © Business Insider
Business Insider

(B) O Business Intelligence (Correct Alternative)
Business Intelligence (Correct Alternative)

(C) O Business Information (Chosen Option)
Business Information (Chosen Option)

(D) O Business Initiation
Business Initiation

Question No. 2 / Question ID 378 Marks: 2.00
Who is the father of cloud computing?
TS HHfET & D B 872
A) O Edgar Frank Codd

UsiR Lhcb GRS
(B) © Sharon B. Codd
CIRCIE]

(C) O J.C.R. Licklider (Correct Alternative) (Chosen Option)

.3t 9. fafaase (Correct Alternative) (Chosen Option) : - »
(D) O Charles Bachman GlO b ﬂ I lTl
EISKCELE]

Question No. 3 / Question ID 156 Marks: 2.00
What does the following statement in SQL do? DROP TABLE student;
sQL # fAAfiRad Fu= &1 #Xdl 82 DROP TABLE student;

(A) O Check if there is a table called student (Chosen Option)
S fob @ tg%'c T &1 OD\I:{ RISTY % (Chosen Option)
(B) O Deletes a table called student (Correct Alternative)
E@E’ TS 39 B f&elie B a1 § (Correct Alternative)
©) O Deletes onIy the records in a table called student
$Had gac A & cad § Rabls fodlic &l §
(D) O Creates a table called student
TS MG U ¢ad §1dl §

Question No. 4 / Question ID 400 Marks: 2.00




Which keyword prevents inheritance of a class?
D I DIdS [hUl FA DI SR B Adhdl g2
(A) O Super
qR
(B) O Final (Correct Alternative) (Chosen Option)
WIgHd (Correct Alternative) (Chosen Option)
(C) O Class
ENIN
(D) O Constant
Pl

Question No. 5/ Question ID 437 Marks: 2.00
Which entity does a failed method overriding call the method of?

s fawd faf shaRmefEn fg 3o1s o1 fafd &) B Bl 82

(A) O superclass (Correct Alternative)
superclass (Correct Alternative)

(B) O subclass
subclass

(C) O abstract class (Chosen Option)
abstract class (Chosen Option)

(D) O error occur
error occur

Question No. 6 / Question ID 175 Marks: 2.00

What is the full form of ADSL?

ADSL &1 5 HIH &1 82

(A) O Asymmetrical Digital Subscriber Line (Correct Alternative) (Chosen Option)
Asymmetrical Digital Subscriber Line (Correct Alternative) (Chosen Option)

(B) O Asymmetrical Digital System Line
Asymmetrical Digital System Line

(C) O Automatic Digital Subscriber Line
Automatic Digital Subscriber Line

(D) O Asynchronous Digital Subscriber Line
Asynchronous Digital Subscriber Line

Question No. 7 / Question ID 257 Marks: 2.00
Which is used to access individual value in an array?
forlt X T 3fTHT- 31T deyg I Uga- o foe fararesT SUANT fohan ST g2
(A) O Table Number
¢ R
(B) O Variable Number (Chosen Option)
&R (Chosen Option)

(C) O Element Number (Correct Alternative)

@ HaR (Correct Alternative)
(D) O Content Number

Question No. 8 / Question ID 124 Marks: 2.00
Which item contains text graphics, charts, sound, video, etc., in PowerPoint?

UeR Ulee & dRe 3fgcH, I1d, IS, difedl sl & ¥ 35cH 872




(A) O Desktop screen
SWhely BhiA
(B) O Slides (Correct Alternative) (Chosen Option)
TS (Correct Alternative) (Chosen Option)
(C) O Folder

(D) O Handout
SR

N

P T ST SIRT Gori & AdTa-T Y= <l 87
(A) O alertHTML( )
alertHTML( )

(B) O alert() (Correct Alternative) (Chosen Option)
alert( ) (Correct Alternative) (Chosen Option)

2O e Global iTi
(D) O alertBOX()
alertBOX( )

Question No. 9 / Question ID 267 '2 C Marks: 2.00
Which dialog box give a warning message to the users? -
\ }‘

Question No. 10 / Question ID 393 Marks: 2.00
Which primitive data type include integer?
forg fiffed Se1 upR # quifer 2nfira g2
(A) O char
char
(B) O double
double
(C) O array (Chosen Option)
array (Chosen Option)

(D) O byte (Correct Alternative)
byte (Correct Alternative)

Question No. 11 / Question ID 206 Marks: 2.00
Which publishes a webpage to a web hosting server?
39 BIRET TR R JFUST D11 THIRIT HRT 872
(A) O Php
Php
(B) O Blogger
Blogger
(C) O Kompozer (Correct Alternative)
Kompozer (Correct Alternative)

(D) O Hittp (Chosen Option)
Http (Chosen Option)

Question No. 12 / Question ID 19 Marks: 2.00
Where do pinned application stay in Windows OS?
faSie i Rizew 7 f fbu 0 ufkice gi 38d 87
(A) O Task Bar (Correct Alternative) (Chosen Option)
CI¥®P dIX (Correct Alternative) (Chosen Option)




(B) O Notification Area
Afeftror=e i
(C) O Title bar
clgcd dR
(D) O Desktgp

Question No. 13 / Question ID 79 Marks: 2.00
Which shortcut key prints a document?
SiRgHc &I fiic B & o ford Wicdhe & &1 TRaNT fsar i g2
(A) O Ctrl+X
Ctrl + X
(B) O Ctrl+V
Ctrl+V
(C)O Ctrl+B
Ctrl+ B

(D) O Ctrl + P (Correct Alternative) (Chosen Option)
Ctrl + P (Correct Alternative) (Chosen Option)

Question No. 14 / Question ID 180 Marks: 2.00
What type of firewall is typically connected between a device and a network connecting to the Internet?
geRC ¥ g8 aTd f3argd SR Aead & diF AR WR {6y UHR &1 HraRdrd o[sl gidl 82
(A) O Hardware firewall (Correct Alternative) (Chosen Option)

wRRAd (Correct Alternative) (Chosen Option)
(B) O Microsoft firewall
HIShIGITE BRAld
(C) O Inspection firewall
ERINENERIBIGIS
(D) O Software firewall
AR IRAld

Question No. 15/ Question ID 78 Marks: 2.00
Which is a default document type for a mail merge?
Td Tol o o fethiee Slagiic UHR S A1 82
(A) O Set

Set
(B) O Letters (Correct Alternative)
Letters (Correct Alternative)
(C) O Data
Data
(D) O Labels and list (Chosen Option)
Labels and list (Chosen Option)

Question No. 16 / Question ID 277 Marks: 2.00
Which is the the open source web server solution stack package?
3T IR 9T YR ATeyRH Wb ool BIF AT 52
(A) O XAMMP (Chosen Option)
XAMMP (Chosen Option)

(B) O XAMPP (Correct Alternative)
XAMPP (Correct Alternative)




(C) O XAAMP

(D) O

XAAMP

XAMP
XAMP

Question No. 17 / Question ID 135
What is the file extension of Microsoft PowerPoint?

IS0 UTaRW@ISC b1 BhIsd T T 272

(A) O
(B) O
(C)O
(D) O

.docx
.docx
Axt
Axt

.pptx (Correct Alternative) (Chosen Option)
.pptx (Correct Alternative) (Chosen Option)
Xslx
Xslx

Marks: 2.00

Global iTi

Question No. 18 / Question ID 179
What is the full form of TCP?
TCP &1 %d WIH a1 8IdT 87

(A) O
(B) O
(C) O
(D) O

Transport Control Protocol
Transport Control Protocol

Marks: 2.00

Transmission Control Protocol (Correct Alternative) (Chosen Option)
Transmission Control Protocol (Correct Alternative) (Chosen Option)

Test Control Protocol
Test Control Protocol

Transfer Control Protocol
Transfer Control Protocol

Question No. 19 / Question ID 52
Which is open source software?

31T O G aaR S 1 22

(A) O
(B) O
(€) O
(D) O

Microsoft Office 365
Microsoft Office 365

Windows 10 (Chosen Option)
Windows 10 (Chosen Option)
Open Office (Correct Alternative)
Open Office (Correct Alternative)

MacOs
MacOs

Marks: 2.00

Question No. 20 / Question ID 280
Which JavaScript is also called as Client side Javascript?

T JavaScript @I FTSe T1SS Javascript HY BT ST 82

(A) O
(B) O

(€) O

Native

Navigator (Correct Alternative)
(Correct Alternative)

LiveWire (Chosen Option)

lIgddIIR (Chosen Option)

Marks: 2.00




(D) O Microsoft

Question No. 21 / Question ID 222 Marks: 2.00
What are the unchangable web pages called?
AREdT aF TSt BT T HgT oIl 572
(A) O Flash
TRIST

(B) ©O Immovable

S

(C) O Static (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(D) O Dynamic

Question No. 22 / Question ID 215 Marks: 2.00
Which tag is used to create a combo box?
B! ST I P T 37T 5 <1 BT YT ¥
(A) O <list>
<list >
(B) O < checkbox > (Chosen Option)
< checkbox > (Chosen Option)
(C) O <select > (Correct Alternative)
< select > (Correct Alternative)
(D) O <inputtype="dropdown” >
< input type="dropdown” >

Question No. 23 / Question ID 431 Marks: 2.00
What is an array in Java?
Srar § W 7 87
(A) O Mixed data
IGIEGRS

(B) O Collection of similar type of elements (Correct Alternative) (Chosen Option)
U YR & dedl BT AT (Correct Alternative) (Chosen Option)

(C) O Collection of heterogeneous data
ICEERCaRD

(D) O Collection of different type of element
fafe U R & dcdl o1 AUG

Question No. 24 / Question ID 343 Marks: 2.00

Which term refers to paying the money back to the buyer after the price has been deducted from the
account?

WA ¥ Yed | Bkl & a1 WRIGR B O A 64 &1 T a1 g2
(A) O Refund (Correct Alternative) (Chosen Option)
< I aTaH! (Correct Alternative) (Chosen Option)
(B) O Charge back
EIEICIE
(C) O Deduction




(D) O Return

Question No. 25 / Question ID 313 Marks: 2.00
Which creates a Calendar table in PowerBI?
PowerBl H $aR ¢ad B a-TdT 872
(A) O PowerBl.com
PowerBlI
(B) O Either Power Query or Power Pivot (Chosen Option)
Either Power Query dl Power Pivot (Chosen Option)

(C) © Power Query (Correct Alternative)
Power Query (Correct Alternative)
(D) O Power Pivot
Power Pivot

Question No. 26 / Question ID 366 Marks: 2.00
What is the penalty for destroying computer source code?
SR AN HIS Pl Y R B &8 T 672
(A) O 3 years imprisonment or Rs.5 lakh or both (Chosen Option)
3 9N & HRIAN T 5 ARG 24U gl al (Chosen Option)
(B) O 3 years imprisonment or Rs.1 lakh or both
3 aﬁm PRI T 1 <Id ¥UU ZITa:h
(C) O 3 years imprisonment or Rs.2 lakh penalty or both (Correct Alternative)
3 g9 BT PRGN IT 2 TRA FYY BT JHHT AT AT (Correct Alternative)
(D) O 2 years imprisonment or Rs.2 lakh or both
2 I8 &1 BRI 1 2 ARG U 7 g1

Question No. 27 / Question ID 148 Marks: 2.00
What is full form of DDL?
DDL &1 JUi %0 &1 g2
(A) O Data Definition Language (Correct Alternative) (Chosen Option)
Data Definition Language (Correct Alternative) (Chosen Option)

(B) O Data Describe Language
Data Describe Language

(C) O Data Distinct Language

Data Distinct Language : . .
(D) O Definition Data Language GlO b ﬂ I ].Tl

Definition Data Language

Question No. 28 / Question ID 128 Marks: 2.00
Which key stops a PowerPoint presentation?
DI It Foft UTaRUTE e USIeRH & Al 82
(A) O Enter
Enter
(B) O Tab
Tab
(C) O ESC (Correct Alternative) (Chosen Option)
ESC (Correct Alternative) (Chosen Option)

(D) O Citrl
Ctrl




Question No. 29 / Question ID 419 Marks: 2.00
In which of the following modulus operator(%) can be applied?
fafafad & 9 fy Aregay SHaReR (%) & a1 foar off Idhdr 82
(A) O real numbers
real numbers
(B) O Integers and floating - point numbers (Correct Alternative) (Chosen Option)
Integers and floating - point numbers (Correct Alternative) (Chosen Option)
(C) O Integers
Integers

(D) O Floating - point numbers
Floating - point numbers

Question No. 30 / Question ID 47 Marks: 2.00
Which character redirects output into an existing file in Linux?
forTa & S IT HRaex SHT3TYC D! HiSlal BWid H TSR Hdl 82
(A) O > (Correct Alternative) (Chosen Option)
> (Correct Alternative) (Chosen Option)

(B) O <<

<<

(C)O >=

>=

(D) O <
<

Question No. 31 / Question ID 379 Marks: 2.00
Which of the following is a type of cloud server?
e & ¥ 3IF 91 T3S TR & UDR ol 672
(A) O Dynamic Cloud Servers (Chosen Option)
FASS Tag (Chosen Option)

(B) O Public Cloud Servers (Correct Alternative)

UfRTP FA8S TaR (Correct Alternative)
(C) O Merged Cloud Servers

SIS T3S Had

(D) O Static Cloud Servers
YIZdc FI3S Fad

Question No. 32 / Question ID 364 Marks: 2.00
Who is the father of computer security?

HeR RYiid & THE P § 2
(A) O Charles

(B) O Bob Thomas (Chosen Option)
CICRILEES] (Chosen Option)

(C) O August Kerckhoff's (Correct Alternative)
3TTRE HHBIRT (Correct Alternative)

(D) O Robert
AT

Question No. 33 / Question ID 34 Marks: 2.00




What is the capacity of a typical DVD?
Typical DVD &1 HURict o g2
(A) O 50MB
50 MB
(B) O 4.7 GB (Correct Alternative) (Chosen Option)
4.7 GB (Correct Alternative) (Chosen Option)
(C)O 60MB
60 MB
(D) O 40MB
40 MB

Question No. 34 / Question ID 408 Marks: 2.00
What will be the return type of a method that not returns any value?
39 fafy &1 e YR a1 g1 ot s A =181 Sllerdl g2

(A) O Int
Int

(B) O double (Chosen Option) -

double (Chosen Option) WWW I b I t

.globaliti.or
float

(D) O void (Correct Alternative)
void (Correct Alternative)

Question No. 35/ Question ID 311 Marks: 2.00
Which type of chart is suitable for single series of data?
T THR &1 A1 ST &1 Thd YA & o Iugad 82
(A) O Pie Chart
s a1e
(B) O Line Chart
NIEREEIC
(C) O Column Chart (Correct Alternative) (Chosen Option)
CAGE G (Correct Alternative) (Chosen Option)

(D) O Cone Chart
DI A1C

Question No. 36 / Question ID 268 Marks: 2.00
Which of the following is a web hosting company?
fFrafifad # 9 oM T ae IR Ul 82
(A) O WPX Hosting (Correct Alternative) (Chosen Option)
WPX Hosting (Correct Alternative) (Chosen Option)

(B) O Facebook
Facebook

(C) O Tesla
Tesla

(D) O Microsoft
Microsoft

Question No. 37 / Question ID 90 Marks: 2.00
Which tab adds pivot table, charts and hyperlinks in a spread sheet?

fUac 294, I1¢, SRRt & WS We H WA B & forw feg &9 &1 IuanT fasar S g2




(€) O
(D) O

Insert (Correct Alternative) (Chosen Option)
Insert (Correct Alternative) (Chosen Option)

Review
Review
Data
Data

Page Layout
Page Layout

Question No. 38 / Question ID 388 Marks: 2.00
What is Debugging?

feaftim = 87

(A) O
(B) O
(C)O

(D) O

Creating Program Code
TUTH B

Finding And Correcting Errors In The Program Code. (Correct Alternative)
U™ His A T B GIoAT 3R HJYRHAT (Correct Alternative)
Creating The Algorithm.

UH fohue BT
Identifying The Task To Be Computerized. (Chosen Option)
HECRISS BIH & [oTU TRE DI UGAM dHRAT (Chosen Option)

Question No. 39 / Question ID 169 Marks: 2.00
Which is used to input the entry and give the result in a variable in a procedure?

forlt uforan & ufaf® &1 37ge HA iR aRkuaa & uRum ¢ & for foraesT IuahT foar S g2

(A) O
(B) O
(€) O
(D) O

In and out (Correct Alternative) (Chosen Option)
In and out (Correct Alternative) (Chosen Option)

Get and put
Get and put
Out and In
Out and In

Put and get
Put and get

Question No. 40 / Question ID 6 Marks: 2.00
What is the full form of ABC in first aid?
Ui fafde & ABC &1 Hd BiH &1 872

(A) O
(B) O
(€) O
(D) O

Airway, Breathing, Circulation (Correct Alternative) (Chosen Option)
Airway, Breathing, Circulation (Correct Alternative) (Chosen Option)

Anyway, Blood, Circulation
Anyway, Blood, Circulation
Airway, Blood, Chest

Airway, Blood, Chest

Anyway, Breathing, Circulation
Anyway, Breathing, Circulation

Question No. 41 / Question ID 104 Marks: 2.00
Which option inserts a Pivot Table?

S 1 fdmey fUdie ead Ififerd ol g2

(A) O

Data Group In the Tables Group
Data Group In the Tables Group




(B) O Data Group in the Pivot Table Group
Data Group in the Pivot Table Group

(C) O Formula Tab- Data Analysis Group
Formula Tab- Data Analysis Group

(D) O Insert Tab - Tables Group (Correct Alternative) (Chosen Option)
Insert Tab - Tables Group (Correct Alternative) (Chosen Option)

Question No. 42 / Question ID 235 Marks: 2.00
Which is a statement terminator in javascript?
SaTfERY & Ue Wede cifHer & a1 8?
(A) O ,

(B) O :(Chosen Option)
: (Chosen Option)

(C) O ; (Correct Alternative)
; (Correct Alternative)

D)O ..

Question No. 43 / Question ID 340 Marks: 2.00
Which is the model in E-commerce, if the seller and buyer are both from business firms?
S-HIAY § DI T Hisd g1, afe; faghdr 3iR el aF1 81 IR wHf 9 §1?

(A) O Consumer to Consumer
JUHISHIT ° IUHTeKT
(B) O Business to Consumer
JUHIIT dh AT
(C) O Business to Business (Correct Alternative) (Chosen Option)
[T § SgadTg (Correct Alternative) (Chosen Option)
(D) O Consumer to Business
JUHIHT § FGH dh

Question No. 44 / Question ID 320 Marks: 2.00
Which date is created by applying the custom date format of dd/mm/yyyy?
dd/mm/yyyy BT H&H S BIHC 3Mws HIPb DI It fafd I8 STl 82

(A) O Thursday, July 28, 2022
Thursday, July 28, 2022

(B) O 28/07/2022 (Correct Alternative)
28/07/2022 (Correct Alternative)

(C) O 7/28/2022
7/28/2022

(D) 28/Jul/2022 (Chosen Option)
© 28/Jul/2022 (Chosen Option) WWW " g I O b a.I Itl " O rg

Question No. 45 / Question ID 114 Marks: 2.00
Which chart shows the proportions of how one or more data elements relate to another data element?
DI 1 I1E I TaT ¢ foh U T 3HfYP ST dd gI ol dd ¥ by ISR Iafdd g2
(A) O XY Chart

XY
(B) O Line Chart
NIEREIS




(C) O Pie Chart (Correct Alternative) (Chosen Option)
e (Correct Alternative) (Chosen Option)
(D) O Column Chart
HIaH d1C

Question No. 46 / Question ID 71 Marks: 2.00
Which term refers to the process of combining two or more cells to make one?
DI 1 XeG &1 A1 & A 31 BRSBTS DI FHAHR Th S B Ufohar o1 Hefid HRal 872
(A) ©O Combining
Combining
(B) O Joining
Joining
(C) O Merging (Correct Alternative) (Chosen Option)
Merging (Correct Alternative) (Chosen Option)
(D) O Creating
Creating

Question No. 47 / Question ID 16 Marks: 2.00
Which Control Panel applet gives information about the computer?
P T Held U TRIE HELR B! THBRT Sal 82
(A) O Hardware and sound
TR 3R @i
(B) O Appearance and personalization
TET 3R
(C) O System and security (Correct Alternative) (Chosen Option)
TTRT 3T {R&T (Correct Alternative) (Chosen Option)

(D) O Programs
L

Question No. 48 / Question ID 101 Marks: 2.00
In which application data validation is used?
5y TfRre & Ser I &1 IugiT fbar ST 87
(A) O Paint
Paint

(B) O MS Power Point
MS Power Point

(©) O MS Word
MS Word

(D) O MS Excel (Correct Alternative) (Chosen Option)
MS Excel (Correct Alternative) (Chosen Option)

Question No. 49 / Question ID 296 Marks: 2.00
Which is a free open-source HTML editor developed by Microsoft.?
AHNITE GRT SIS U Wi STH-IR HTML TfSex &I 1T 82
(A) O Visual Studio Code (Correct Alternative)
Visual Studio Code (Correct Alternative)
(B) O Notepad++ (Chosen Option)
Notepad++ (Chosen Option)

(C) O Atom
Atom




(D) O Komodo Edit
Komodo Edit

Question No. 50 / Question ID 223 Marks: 2.00
Which is an attribute of < Table > tag?

< Table> &7 &} fawdr &I I 82

(A) O CELLPADDING (Correct Alternative) (Chosen Option)
CELLPADDING (Correct Alternative) (Chosen Option)
(B) ©O BOLD
BOLD
(C) O LINK
LINK
(D) O SRC
SRC

2) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 598 Marks: 2.00
The expansion of WAN is
"WAN" FT fIdR § -

(A) O Web Aided Network
Web Aided Network

(B) O Web Assigned Name
Web Assigned Name

(C) O Wide Area Network (Correct Alternative) (Chosen Option)
Wide Area Network (Correct Alternative) (Chosen Option)

(D) O Wide Area Name
Wide Area Name

Question No. 2 / Question ID 524 Marks: 2.00
This intention to move out of one’s place to another for better jobs is called )
YR BNl & U T R F IR VI R IH & 39 S DI Hel a1 g |
(A) O Mitigation
RHA

(B) O lrrigation
Rf=ms

(C) O Litigation (Chosen Option)
ST (Chosen Option)

(D) O Migration (Correct Alternative)
YdTH (Correct Alternative)

Question No. 3 / Question ID 457 Marks: 2.00
People from all religions or no religions are treated equally means

it el 7 fopelt ot el & <l 3 Ty g TR el [P S ... VR oW




(A) O religious

(B) O democratic
EEG|IECT
(C) O non secular
&l
(D) O secular country (Correct Alternative) (Chosen Option)
& oxr (Correct Alternative) (Chosen Option)

Question No. 4 / Question ID 599 Marks: 2.00
What does ‘ASAP’ stand for, in SMS language?
THUHTH HTOT H "ASAP" &1 7 31ef & 2
(A) O As Simple As Possible (Chosen Option)
As Simple As Possible (Chosen Option)
(B) O As Soon As Possible (Correct Alternative)
As Soon As Possible (Correct Alternative)
(C) O As Soon As Probable
As Soon As Probable

(D) O As Silent As Probable
As Silent As Probable

Question No. 5/ Question ID 487 Marks: 2.00
The word that expresses a sudden and strong feeling is called .
IE TMeg ol 3AMH 3R A HTGHT dd Bl § 34 g1 o1l §
(A) O conjunction
IS & U
(B) O interjection (Correct Alternative) (Chosen Option)
[ (Correct Alternative) (Chosen Option)
(C) O punctuation

[CREREH
(D) O apostrophe "=
Question No. 6 / Question ID 542 Marks: 2.00
Noise, physical discomfort of hotness or coldness comes under
R, T a1 381 areht IR Sragerd & Sfad 31Tl §

(A) O perception barrier (Chosen Option)
URI®=M §14T (Chosen Option)
(B) O language barrier
HIST DI TeT
(C) O environment barrier (Correct Alternative)
g faRur 91T (Correct Alternative)
(D) O culture barrier
DR dTYUT

Question No. 7 / Question ID 648 Marks: 2.00
What does 'A' in SMART stand for?
SMART # 'A' &1 &1 37 g7

(A) O Achievable (Correct Alternative) (Chosen Option)
Achievable (Correct Alternative) (Chosen Option)




(B) O Ambitious
Ambitious

(C) O Action
Action

(D) O Awareness
Awareness

Question No. 8 / Question ID 584 Marks: 2.00
CPU consists of

CPUH ........... g

(A) O Input device and control unit

Y f5argd SR Fga e (v S1s)
(B) O Control unit and ALU (Correct Alternative) (Chosen Option)

ﬂ:‘ﬁ qﬁ?: (BREL] E_CFI%F) 3R Tud. Y. (Correct Alternative) (Chosen Option)
(C) O Input and output devices

e 3R 33eye feargy
(D) O Storage device and ALU
fSarzy siR Tua.g,

Question No. 9 / Question ID 614 Marks: 2.00
Which one is a web browser?

B U IS SR 87
A) O Hyt mail

(B) O Outlook express

3HTICYP Laad
(C) O Face book

(D) O Internet explorer (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Question No. 10 / Question ID 577 Marks: 2.00
RTlis
RTIG....|
(A) O Right Tern Information (Chosen Option)
Right Tern Information (Chosen Option)
(B) O Read To Information
Read To Information
(C) O Right To Information (Correct Alternative)
Right To Information (Correct Alternative)

(D) O Ready To Information
Ready To Information

Question No. 11 / Question ID 461 Marks: 2.00
To grow yourself you must
31T 31T ) fyRid R & forg 3ua! =iy ... |
(A) O know yourself (Correct Alternative) (Chosen Option)
Ya CakIE] (Correct Alternative) (Chosen Option)

(B) O know your country
31U SR BT ST




(C) O know your office
ST B o

(D) O know your institute
30 TR I S

Question No. 12 / Question ID 569 Marks: 2.00
Someone is treated differently on their skin colour, income

frft Bt AT B T, 3T BT AP 3T R I IdeR fHAT AT 3. |
(A) O nature

(B) O correct

R

(C) O unity
Uchdl

(D) O discrimination (Correct Alternative) (Chosen Option)
fave (Correct Alternative) (Chosen Option)

Question No. 13 / Question ID 530 Marks: 2.00
Choose the correct context of the given expression in group discussion. "Excuse me, | would
79 f&xmsM ¥ fau U sifiyafad &1 Wl ¥eH g 1. "Excuse me, | would ”

(A) O Agreeing
Agreeing
(B) O Interrupting (Correct Alternative) (Chosen Option)
Interrupting (Correct Alternative) (Chosen Option)
(C) O Emphasizing a point
Emphasizing a point
(D) © Summarizing
Summarising

Question No. 14 / Question ID 452 Marks: 2.00
Jobs that have become outdated in the past 5 years

......... TpRai o e 5 a6t § R & TE g

(A) O swiggy
Swiggy
(B) O uber

(C)O ola

(D) O STD booth (Correct Alternative) (Chosen Option)
STD §Y (Correct Alternative) (Chosen Option)

Question No. 15/ Question ID 631 Marks: 2.00

Entrepreneurship is also termed as
S DI ........... ff HgT o 8
(A) O investor

IRCEICY
(B) O employer (Chosen Option)

(Chosen Option)

(C) O employment seeker

SHINEIRR IS




(D) O self employment (Correct Alternative)
T YRR (Correct Alternative)

Question No. 16 / Question ID 490 Marks: 2.00

Which one is a “Do’s” of discussion etiquettes?

T4 & RISERI § ¥ &H A1 “Do’s” &7

(A) O Loose your temper
3{UT TaT WY

(B) O Listen to others (Correct Alternative) (Chosen Option)
§'\‘Iﬁ 3| '\ﬂer (Correct Alternative) (Chosen Option)

(C) O Talk about irrelevant details
ST faaRur & IR H o1d DY

(D) O Use impolite or rude language

3HG T 3T HIHT BT SUTNT B3

Question No. 17 / Question ID 566 Marks: 2.00

How do successful people handle failure?
THd TN SAHAT DI o FHIE &2
(A) O They blame others

J g B A9 & B
(B) O They give up their ambitions

3 HEaTsmignall & @nT 3 g

(C) O They learn from their mistakes (Correct Alternative) (Chosen Option)

q 3yt Tafaa | Hiwd %'I (Correct Alternative) (Chosen Option)

(D) O They get demotivated
g1 od g

Question No. 18 / Question ID 465 Marks: 2.00
After receiving interview call, what is the next step?
TETHR B T B & §1G, ST HEH T 572
(A) O Appear at interview (Correct Alternative) (Chosen Option)
TTeTehR § § o (Correct Alternative) (Chosen Option)
(B) O Send resume
ol

(C) O Send application letter
PERME

orEwEm  Www.globaliti.org

Question No. 19 / Question ID 651 Marks: 2.00
Which of the following is not true?
T I DI AT Tal ol 82

(A) O Ask the questions with a genuine focus on understanding your customer in order to meet their
needs

3G UTED| P SRl ! GRT HR & ol I8 U IR IRATdD &M & 1 U U
(B) O Only ask relevant questions (Chosen Option)

dhdd YRS U8 G (Chosen Option)
(C) O Establish trust by focusing on customer needs and not on your product.

e D1 SRed IR W higd B [y RITUT B3 7 fob 31U IaTg R




(D) O Ask each customer the same set of questions. (Correct Alternative)
YTeP A JHTH UY IS | (Correct Alternative)

Question No. 20 / Question ID 615 Marks: 2.00
Which one is an input device?

P U 39 fearzy g2

(A) O Monitor
[

(B) O Printer
fiiex

(C) O Speaker
RGN

(D) O Joystick (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Question No. 21 / Question ID 585 Marks: 2.00
CPU stands for
"CPU" ¥ g § -
(A) O Central Progress Unit
Central Progress Unit
(B) O Central Processing Unit (Correct Alternative) (Chosen Option)
Central Processing Unit (Correct Alternative) (Chosen Option)
(C) O Central Planning Unit
Central Planning Unit

(D) O Central Programming Unit
Central Programming Unit

Question No. 22 / Question ID 479 Marks: 2.00
Fill in the blank with proper reflexive pronoun. “She has hurt

Rad wm A Sfrd ufdad! gd=m & 19 W31 “She has hurt ’

(A) O herself (Correct Alternative)
herself (Correct Alternative)
(B) O myself
myself
(C) O himself
himself

(D) O itself (Chosen Option)
itself (Chosen Option)

Question No. 23 / Question ID 485 Marks: 2.00
Re-arrange the following set of words into meaningful sentence. “teacher / school / worked / she / a / as”.

Teq] & fFAuferiad e &t Tqrfes 91T | fh § IR B | “teacher / school / worked / she / a / as”

(A) O School worked as a she teacher
School worked as a she teacher

(B) O She worked as a school teacher (Correct Alternative) (Chosen Option)
She worked as a school teacher (Correct Alternative) (Chosen Option)

(C) O She teacher worked as a school
She teacher worked as a school

(D) O Worked she as a school teacher
Worked she as a school teacher




Question No. 24 / Question ID 660 Marks: 2.00
What is the meaning of an entry level job?
Ut dad i &1 R qdd |2
(A) O Junior interior designer
R SRR e R
(B) O It helps to enter the office
g AT & Y% B H Hag Hdl o
(C) O Security guard

IR&M U

(D) O Iltis a starting or junior level job (Correct Alternative) (Chosen Option)

g U EZJRFGI'R-ﬁ q1 Fjﬁ'ﬂ?‘ TR B! APt % (Correct Alternative) (Chosen Option)

Question No. 25 / Question ID 543 Marks: 2.00
The study of right and wrong in human endeavors is called
9 T H GgY 3R Ted & T Dl &l oldl ©

(A) O ethics (Correct Alternative)
(Correct Alternative)
(B) O motivation
HifeaH

(C) O goal
ma

(D) O self awareness (Chosen Option)
(Chosen Option)
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